ﬁtFBX/lt’c# E13 |
ﬂﬂ?fé ) 2§%o¢»amﬂr37 o %3\:&7 wl?%éﬁu’&

%—7_#;%%7«/%—%2§@33 ¥ P

Zale 5~ 12X, B 0 TR £ o

14 Z3

(
%z,,ﬁﬂv(@?%/f,m ) o= cos
EOAEF P(6) = || = B = -é (1+ s 28)
S’V / , P(g=0) =1
f Plo=4) =[-L|* = £

o 1 F(s';%?? b O
\\‘ — ’ o
59 Ple=225°) = _1.(1“0545.)
,‘ =1 ('l—f--—-'—
E 4 (18 2 0 ’.ta/;;\ 5 \/E
/E?E'h 2 {5 a1pG, et

@@(@L&y’ﬁi 3985 7%

b=¢e5ntl % -
@@%’E% @ 15157



ODe~> Vv

A1~ CHSH 7% ﬁ% “:s/;t ) KA $R o
RN @“}B | Hﬂ %y
AgreisB T B3,

A REesT RIra BIER 4 kK3

o B

Uzra /87,
UV ETseRinz BIZ%y

(A B REISES: Gy S_\/) - y%
R1Zs58 2 A=+1 32 A= -1 B[ Z95%2 (=1
Begy <75 B=+1 3r<2B=~] Baw |/ = +1

ST o Al eRLT%s (T By AU eFu3,

Atv ‘ s A\/
Bt() 7z s BU
Bt\/ “s G B\/

- ARy L ep e, Loima UVa B 2Euha L,
AU aF-9- 2" Effstrs  AUaB9ME <AUD el
Atk FE <Av>, (BUD, BV TikH3.

CHSH
Clqusey ~Horne - S'f\mor\y Ho['t OZ“%‘\ "-Q S <S> g 27

ERE TR SR S .
W 7
R 137
W S= AU +AV + B - BV “hee,
=A(U+v) + B(U-V)
ulv|usv|v=v (U+V)e CU=V) o

{_I +1 +2 (o) t“ = Y, \ 1t
+1 (-1 o | +2 ToRE W) YA,

“1 |+t ] o | =2 ARH F £,
=1 l-" -2 o)
/\‘En/lﬂLg (F 21 Tov So i 9 phan, |
(Sa%“@) < (Sm%éitﬁ) (Sm’g‘ﬁ/ﬁ:s) N%Ej?&m
-2 < << Q.



Lo, Bdn3ee —202 ¢ 2 < 22 eTR) w3
L ‘ \
| ~z.§28.“ +2.828
: 1 ‘)—1747;~ k —~
- BEe i%@ ‘ Wz Wo ,:‘, _
& 5 . W 4_, - VAV , S i y=raea g,f,,":',
ki
el e ~2/2 2/2
45 (3245 L rartC.
#3"
FhoBodY  AeBapit¥ AB
BA = AR 5P commutatie
TINY oL BA X AB  AETH non-ommutative,
# (15 53 2 T3

ab=07%37 a=0#rx b=0.
(x—@)(x-b)=0 %ix x=a Fri T=b
(x-a)(x-b)(x-¢)=0 %312 o= pfaz X=b zRiz X =

‘ 2.
AS=1 +3 A =1 =0

A1+«4~A ~1=0
A(A+1) — (A1) =0
(A ~1)(A+1) =0
A-1=0 %=1z A+]=0

:m&i::@;ag
A=1 =k A=-1

- \
Ax"e) ) 3168
b3 /40t AN'] /\ll/’f@ t//;“
Ao B7A1E =),
Ao zE, <REFR A3,

B =1 #3 =1 %rz B=-] 75‘“;%_"/)‘%3,
cozE AYBA €421 0 ?
BRSC ArB=2 $rx 0 Fr ~2
Lt BA=—AB .y (AFTHR%EE)
(A +B) = (A+D(4+8)

= AZ_’_ ABt@ﬁv_‘“Bz

= 1 +AB —AB+1

= 2 T

Wk AR =22 . Tl a2 nmsde J2 RT3



1L B=] Bs1, BA= AB (FTFR) ERs, 1
(AR = (A+B)(A,T,B)
= Az—:—ABTM-FBz
1 +AB+AB +|
= 2+2AB
= 2 (1+4B)
(A+B)3 = 2 (1+AB) (A+B)
= 2{A+B 1+ AB(A+B)}
= 2{A+B +A*B + AB*}
= 2{AtB+ B +A }
= 4 (A+B)
wik (@+8)Y —4 (A+B) =0
(+18)4 (AtB —4) =0
(A+B){(418) —2}{ (AtB) t2} =0
Wi AtB =0 3 2 zmx —2 ( OER &”3"9”‘#%)

(!

i

g’—}%')’ﬁw)‘[gﬁi eRang zmo\’c

Y e &

9

A¥Ttx BB} Yﬂr[s A Frix B < 3RY3.
A B3E L4 s RaRR A B e AF
PR <113 %}‘P‘ﬂ(ﬁ(A)\r:O <A’>&" =0
Bl e E‘@,?t“lz 7 ] Fr2; =]

/> =

{BY=0 BA=0

(he AcA ERITC b <+l z:1~1> ~B3n (~1 t‘ﬂ 12%3,
,ﬁ“-'j%mg_ﬁ‘;{t Yl ﬂ%‘j BRA%E " ARPA Y % 3.

<AA>\P [ I’\ﬁglc <BB>\{/:1 [__7 <AB/2P‘:0

Uhy AeB 5y f=+] oex BisbaadE5 2 £ 1 A=-lowseB-tf



g

BHr, Be Ao BaSbe 3By, wE, i
(“1 "} v"\j‘;ﬁ?é?‘ © ‘
& b 5 &f?%gé/j

S Gelent), (Hle= 1, (- 1&+1>,
¥<BA’>Y:O,

2 (3 ‘A_ Frig Beshy} ‘ U= L (A‘l’B) Fl=iz \[A J—(A B)

_ e

B @ (9 P

4w, = (g W) = é{mm +<Ag>}

é + 0of
3
<A\Q:<Axé(/¥~ B’)Z {<AA> <AB’>}
N E{ { — o0}
=7
<BUYy = (Bt (W+8)) = L{ <>+ <BB’>}
= fig {0 + 1}
By = (el (=g, = o <o) - <BBDF
=A2{ 0 - 1}
%3738 B :(1? CHSHnAZY'
<S> (AR, +<LAV, +<BU> { Bv> m?m“ |

[

LR R B ey,



3 |
 peUrREebsaEF D o,
PO BE 0z T < P_ =93, |
PBF §8%et 11 n<urw3Tnar P+ P=l o
Ava x5 +1)-F + ()P =P —P :,/’1;'; -®
0+@#7 2P, =

' N
11‘—‘).3 LPYS h:-?lj(ﬁwf-_l-—) =0, 8535
2
D -@)am

— 1~ - _
2P =1-2 wicP=1 (1-;5):0, 1445

AeD, At\/) Be U 11 @%3% w1386+ &5 %

, 5 - e 15%
BV = 93, BV wfith e 230k 15 7%
%fﬁ_% l %y%

:‘7*%9\""?1)‘" ‘%&%ﬁ (ﬁ,‘w%w?ﬂ)}a’)ﬂuém@m{, ﬁ/ﬁzft%%g?{%ﬁ W3 AR
W3R ) ¥ | | |

-3 Vol EGIR (4 BEfoT Nt 07, CPAETRS Bbni= b1 b3T,
@%iﬁm‘%ﬂ\‘% 21 , € fy-nt213 Lt\, INIL ~ % a”?;zz“li?;:*},g;;z 1\(33’%;9
BRI,

Bltfl-—t~— 4 4[Fl-4+ - ++—[F]~+~ < te=wS0% ( 38 _I&
Ut~ v == ++lz)-+ -+ % =[t/ -+ = < + - s0% [ 20§ ~ oo
‘ ﬁ o = (52
s e 5 S e 9 o o T il v

L— = —_— ’3‘90 “ o 7
I R 5 A e KT R W

A,+-—H+—+++~~’~~f-ﬁj-++-—‘m— } 9/ Lt
Vi t- -.]i}“’ -t++ -~ ~—U+++—H‘ Iy/?ﬁg\

“EEAB e —FTatiaV w $3RNT, T 45 S §

(e, B3 mb ((CHsH o) =22 E &M 33em)
Br Vo Tz 98525 |
SUBTE o SRS PN



m
}RN:« ShEFELTor )
’f/?a'f

E ! ; @ \49
AG ‘ N ‘&S"ﬂ}
@ . A = Aeos 20 + R sin20
%0

—

= ‘IA‘ S!nzg‘('BCOSQQ'
1 MB% £3hT
Ak 2es2pt s
| 3 $indl L) FEF
)~ Kt + Ao et A
| 0052051228 + BA sin2breas 2 + B sin 20
i + DA , s
720 + AB @5295}42(9’—/48 cos Wsin) B | y
= st 2P —}-S;nlm o el
T’ <!
st he £ ElofBer3. Pk Byo BT £]
f%%??v%érﬂ

@5@%@

Ag 3ty By 3B 3

AR %

Ay ¥ By 3813

It N\

iy K o526 +B 526 —A's120 +B cos26"
<_-BB’):] ' | <A&Ag>:7
GBIl L s <8BS T dn
CBA> =0 Ao By 770 Ti

o {Bg Ay 7> =0

<A5»A> (A eos2f+ B5a20) (A cos28 + B'sho 28) D
e J i

/f

1 %9 o

= L *
s 2 + 50220 = | »



3
RANE 4‘3‘1@/’)?"70;5@’ 217 HL 96% %3xt e ‘43%5'21—6\/&@ @/
7_?() -

T Sl 5 7

XK X Aas

AN ? ‘l)"'%z‘:

C A= 41 G RE B = ¢

ChC BtB < B E S,
i - (= (2 ﬂ\
@ @ e X B Aty | B X RENE VT +

%é/zmw@;zls 1] ) > ~
:{Fim%@%i' B,: .
W"\—’/

B« B oPdr A 70,
TUH A B UV 1B RE RIS BA B3
£t - A BPELREEM AT L s,

> Blyt o F]og F)+¢~‘___§ 25% 0 £—%EX

Ojt+~ [f-—+ [+t~
| j?ﬁ?‘é%é?%ﬁ%m"md

- = ~[A+ + A= s
AN R s P A

R-- —-AQ++  ++-A }*ﬁbs'%ﬁtmﬂlél‘@m
- -Wer v 2 25% o £ —3%

Be Vit Bk 25425426 =75% o 728

<<3> Flc

=
CBUD = (1) xppe + (- = /oo:’”%:% CHSE{;‘Z\{X
<upad> = Rk _n_:Ll %{iﬁv’%\\/\»
{Ayy = A& T‘z . /(\ |
(S =+ () =5~ =73

ol L=< +<upd+ AV —<BVY =L+ L ,'.—(-—1—«),—_—-.2



